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Name: __________________________________


1
If [image: image1.png]


 is an angle in standard position and [image: image2.png]P(-3.4)



 is a point on the terminal side of [image: image3.png]


, what is the value of [image: image4.png]


?

	1)
	[image: image5.png]




	2)
	[image: image6.png]




	3)
	[image: image7.png]




	4)
	[image: image8.png]






2
If the terminal side of angle q, in standard position, passes through point [image: image9.png]


, what is the numerical value of [image: image10.png]


?

	1)
	[image: image11.png]




	2)
	[image: image12.png]




	3)
	[image: image13.png]




	4)
	[image: image14.png]






3
If the terminal side of angle [image: image15.png]


 passes through point [image: image16.png]


, what is the value of [image: image17.png]cos &



?

	1)
	[image: image18.png]




	2)
	[image: image19.png]




	3)
	[image: image20.png]




	4)
	[image: image21.png]






4
A circle centered at the origin has a radius of 10 units.  The terminal side of an angle, [image: image22.png]


, intercepts the circle in Quadrant II at point C.  The y-coordinate of point C is 8.  What is the value of [image: image23.png]cos &



?

	1)
	[image: image24.png]




	2)
	[image: image25.png]




	3)
	[image: image26.png]




	4)
	[image: image27.png]






5
If [image: image28.png]


 is an angle in standard position whose terminal side passes through the point [image: image29.png]


, what is the numerical value of [image: image30.png]


?

	1)
	[image: image31.png]




	2)
	[image: image32.png]




	3)
	[image: image33.png]




	4)
	[image: image34.png]






6
Circle O has a radius of 2 units.  An angle with a measure of [image: image35.png]oy



 radians is in standard position.  If the terminal side of the angle intersects the circle at point B, what are the coordinates of B?

	1)
	[image: image36.png]£





	2)
	[image: image37.png](+3.1)





	3)
	[image: image38.png]




	4)
	[image: image39.png]






7
Angle [image: image40.png]


 is in standard position and [image: image41.png]


 is a point on the terminal side of [image: image42.png]


.  What is the value of [image: image43.png]sec &



?

	1)
	[image: image44.png]




	2)
	[image: image45.png]




	3)
	0

	4)
	undefined



8
If the terminal side of angle [image: image46.png]


 passes through point [image: image47.png]


, what is the value of [image: image48.png]sec &



?

	1)
	[image: image49.png]




	2)
	[image: image50.png]




	3)
	[image: image51.png]




	4)
	[image: image52.png]






9
The origin of a coordinate grid is labeled A.  Line segment AB forms an angle of 30° with the x-axis.  If [image: image53.png]


, the coordinates of B are:

	1)
	[image: image54.png]




	2)
	[image: image55.png](8 cos 307, 8 sin 307)





	3)
	[image: image56.png](8511307, 8 cos 307)





	4)
	[image: image57.png](4,43







10
An angle, [image: image58.png]


, is in standard position and its terminal side passes through the point [image: image59.png]


.  Find the exact value of [image: image60.png]


.

11
If [image: image61.png]


 is an angle in standard position and its terminal side passes through the point [image: image62.png]


, find the exact value of [image: image63.png]csc &



.

12
Determine the exact value of [image: image64.png]csc P



 if P is an angle in standard position and its terminal side passes through the point [image: image65.png]


.

1
ANS:
3

[image: image66.png]sin &=

24y

2

N




REF:
010616b

2
ANS:
1

A reference triangle can be sketched using the coordinates [image: image67.png]


 in the second quadrant to find the value of [image: image68.png]


.  [image: image69.png]



REF:
spr1503aii

3
ANS:
4

[image: image70.png]cos 6=





REF:
068628siii

4
ANS:
1

[image: image71.png]cosf = ——=—

10




REF:
061617aii

5
ANS:
2

[image: image72.png]Jente -



;  [image: image73.png]ECED




REF:
062304aii

6
ANS:
2

[image: image74.png]


  [image: image75.png]



REF:
061525a2

7
ANS:
2

[image: image76.png]



REF:
011520a2

8
ANS:
2

[image: image77.png]


   [image: image78.png]



REF:
011621a2

9
ANS:
2
REF:
fall9920b

10
ANS:


[image: image79.png]



REF:
061832aii

11
ANS:


[image: image80.png]


.  [image: image81.png]ing— X2 2

ey Joez B



.  [image: image82.png]


.
REF:
fall0933a2

12
ANS:


[image: image83.png]npo—Y 8

eyt fsen? VB




  [image: image84.png]



REF:
081634a2


